
Probability Amplitude of 1s- and 2s-Orbitals of Hydrogen as a Function of 
Distance from the Nucleus 

2s 

Distance from nucleus 

Spherical node 

Probability 
amplitude 

No probability amplitude at 
the spherical node 

Maximum probability occurs 
farther from nucleus in 2s-
orbital than 1s-orbital 

1s 

Distance from nucleus 

Probability 
amplitude 

Distance of maximum probability is 
hydrogen 1s-orbital occurs at the 
same distance as the smallest 
hydrogen orbit as calculated by Bohr 


